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run_13050001 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
Sun Feb 19 00:37:04 2012
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run_13050001 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Sun Feb 19 00:38:04 2012

[ ADC for FGT RDO=1,ARM=2,APV=17 | [ ADC for FGT RDO=1,ARM=2,APV=17 |
4000
2 o
|3 g
Q ceaaaaa - abfeceeaaaa
Q Q 3500
< <
3000 EE T - N 1
2500 EE T - N
10 2000 b R - M |
1500 e - e 10%
1000 RE R - N
500 e heeen B | e
0 Tttt ettt ER N | 10°
i
1000 2000 3000 4000 20
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=18 | [ ADC for FGT RDO=1,ARM=2,APV=18 }
P = 4000 p—
& : : : g =
) o =
9 9 3500 f=
< < =
3000 f/— 1
2500 fm—
2000 =
10 =
=
1500 [=— 10t
=
1000 p=——
=
500 f— o
2 2 2 =
O : 1 L : 102
i i E_. . . i . . . i . . . i . . . i . . . i . . . i .
1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=19 | [ ADC for FGT RDO=1,ARM=2,APV=19 }
¥ 5 4000 p= - - - - - -
: 2 = 2 2 2 2 2 2
Q Q —-
9 g 3500 =
< < =
3000 = 1
=
2500 =
=
2000 f=
10 000 f=
1500 g 107
1000 P=
=
500 f= 8
=
°E] 10?
i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=20 | [ ADC for FGT RDO=1,ARM=2,APV=20 |
4000
2 o =
?i” g = . .
Q Q 3500 f=
< < =
3000 = 1
2500 =
2000 f=
=
= i
1500 = 10
1000 p=
=
500 =
= 2
0 = 10
=
=
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1ARM=2,APV=21 _}| [ ADC for FGT RDO=1,ARM=2,APV=21 }
L - 4000
g 2 = . . . . .
[ & =
%) 9] = | (R ) N R A
Q Q 3500 5
< < =
3000 fEE— - - {1 -} -F-- -1 H - <M a
2500 fo— - 4= {{ === F-F -1 1 - H
=
10 2000 fee— - - {{ - -} - < - - HE - <M
=
= el
1500 EE— - - 41---F-F - 41-1- - -H 10
=
1000 FF— - - {{- - -t -F - - 1- HF - -k
=
500 EE— -1 == F-f =11t I
=
= @
[ = PR i I § 10
I B . . . i . . i . . . i . . . i . . . i .
0 1000 2000 3000 4000 0 2 20 60 80 100 120

raw ADC APV channel




run_13050001 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Sun Feb 19 00:40:31 2012
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run_13050001 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sun Feb 19 00:41:06 2012
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run_13050001 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sun Feb 19 00:38:10 2012

[ADC for FGT RDO=1,ARM=3,APV=0 } [ ADC for FGT RDO=1,ARM=3,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=1 } [ ADC for FGT RDO=1,ARM=3,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=3,APV=2 } [ ADC for FGT RDO=1,ARM=3,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=3 } [ ADC for FGT RDO=1,ARM=3,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=3 APV=4 } [ ADC for FGT RDO=1,ARM=3,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




run_13050001 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Sun Feb 19 00:40:33 2012
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run_13050001 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Sun Feb 19 00:41:07 2012
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run_13050001 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Sun Feb 19 00:38:12 2012
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run_13050001 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Sun Feb 19 00:40:33 2012
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run_13050001 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Sun Feb 19 00:41:07 2012
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run_13050001 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB

Sun Feb 19 00:38:19 2012
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run_13050001 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Sun Feb 19 00:40:34 2012
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run_13050001 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sun Feb 19 00:41:08 2012
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run_13050001 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Sun Feb 19 00:38:25 2012
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run_13050001 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Sun Feb 19 00:40:35 2012
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run_13050001 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sun Feb 19 00:41:09 2012
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run_13050001 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Sun Feb 19 00:38:28 2012

[ADC for FGT RDO=1,ARM=4,APV=0 } [ ADC for FGT RDO=1,ARM=4,APV=0

4000
2 ° =
|3 g =
%) = ...
Q Q 3500 f—
< < =
3000 f=—--- -
=
2500 f=— - -
=
2000 f=——--- -
=
=
1500 f=—- - - - 0
1000 p=—- - - -
=
500 p——- - - -
=
=
ofg—-- .
= n n n n n 9 10
P 2 = L L L L L 1
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=1 } [ ADC for FGT RDO=1,ARM=4,APV=1 }
o = 4000 p—
20 g = H H H H H H
%) 3] = Jeccallocaca baaddlaealbanana
8 8 3500 = : . ; :
< < = . . .
3000 P=— == t----- Focgqesofpsosss
2500 fm—v{- == - e en EEEEE T SEP
2000 fm— - - --t----- EEEEE P R
10 = 3
1500 = v|= s = np e s EEEE S EETY PR 10t
= b
1000 = v s s np e n s EEETE Ty PR
= 8
500 fm— ERS PR PPRED .-
= 8
O S P POt e e e F==" 102
= . i . i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=4APV=2 } [ ADC for FGT RDO=1,ARM=4,APV=2 }
= 4000
] =
oy =
Q 3500 pF— |- {-1--f- B
< =
3000 fF— |- {-1--f- B
=
2500 fF— - {-{--r- Sfetee
=
2000 SR =q=pes
=
1500%—-- SR =q=pes 107
1000 fF—-1{-1--+- =q=pes
=
500 pF— |- {-1-- - cdopes
=
o -t [ ey 102
s i i i i
0 1000 2000 3000 4000 20 40 6! 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=3 } [ ADC for FGT RDO=1,ARM=4,APV=3 |
= 4000
]
&
Q 3500
<
3000
2500 f=
2000
1500 10t
1000
500
0 107
0 1000 2000 3000 4000
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=4 } [ ADC for FGT RDO=1,ARM=4,APV=4 "}
0 = 4000 p— - - - - - -
g g = 3 3
15} = U o8
8 g FE :
< < = 2
3000 f=—----1----- - 2
2500 = e n e e -
= 8
10 2000 fm— - - e { e n e -
= 5
= 2
1500 = - - q oo n e e -i 10t
= 8
1000 f=—----1------- °g
= 8
500 fm— v s e e e e -1
= 8
1 ) e 3 102
i E_. . . i . . i i . i i i .
1000 2000 3000 4000 0 20 40 60 80 100 120

raw ADC

APV channel
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run_13050001 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
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run_13050001 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
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run_13050001 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Sun Feb 19 00:41:11 2012
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run_13050001 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB
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run_13050001 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13050001 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Sun Feb 19 00:41:11 2012
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run_13050001 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB

Sun Feb 19 00:38:43 2012
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run_13050001 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB

Sun Feb 19 00:40:38 2012
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run_13050001 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Sun Feb 19 00:41:12 2012
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run_13050001 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Sun Feb 19 00:38:50 2012
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run_13050001 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Sun Feb 19 00:40:39 2012
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run_13050001 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Sun Feb 19 00:41:13 2012
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run_13050001 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC
Sun Feb 19 00:38:56 2012
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run_13050001 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13050001 FGT_ADC _1,Timebin=2,Disc=5,asmb=5CD
Sun Feb 19 00:40:18 2012

[ ADC for FGT RDO=2, ARM=2,APV=12 | [ ADC for FGT RDO=2,ARM=4,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=4,APV=13 | [ ADC for FGT RDO=2,ARM=4,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=4,APV=14 | [ ADC for FGT RDO=2,ARM=4,APV=14 "}
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=2,APV=15 | [ ADC for FGT RDO=2,ARM=4,APV=15 |}
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=16 || [ ADC for FGT RDO=2,ARM=4,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13050001 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Sun Feb 19 00:40:55 2012
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run_13050001 FGT RMS 1, Timebin=2,Disc=5,asmb=5CD
Sun Feb 19 00:41:28 2012
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